Moto-All.ru

CITMCOK OETAJIEY [1JId "REAR MASTER CYLINDER" TRIUMPH TROPHY

1215 SE

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

12

14—

14— _

21




CITMCOK OETAJIEY [1JId "REAR MASTER CYLINDER" TRIUMPH TROPHY

1215 SE

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2028014 Cpok nocTtaBku oT 19 nHen Rear Master Cylinder Assy, 15.87mm
2 T2022115 CpOK 1oCTaBKH OT 27 [HEeH RESERVOIR BODY,M/CYL,REAR

3 T2022117 CpOK 1OCTaBKH OT 27 [HEeH RESERVOIR SEAL,M/CYL,REAR

4 T2022126 Cpok nocTaBku oT 19 nHel Reservoir Cap, Rear M/Cyl

5 T2022118 CpoK IIOCTaBKH OT 27 mHEN RESERVOIR SCREW,M/CYL,REAR

6 T2023188 CpoK II0CTaBKH OT 27 gHel HOSE CLAMP

7 T2028016 Cpok nocTaBku oT 19 nHei Hose, Reservoir

8 T2023189 CpoK IIoCTaBKH OT 27 gHel CONNECTOR SET

9 T2028017 Cpok nocTaBku 0T 19 gHelt Piston Set, M/Cyl, 15.87mm

10 T2020472 CpOK 1oCTaBKH OT 27 HHen CIRCLIP, M'CYLINDER, REAR

11 T2024099 CpoK 1oCTaBKY OT 19 mHew Rod Assembly

12 T3050331 CpOK IIOCTaBKH 0T 27 [HEH SCREW,CAP/HD,M6X1.0X16,SLV,ENC
14 T3700108 CpOK IIOCTaBKH 0T 27 [HEH CLIP,CABLE, 14.3 X 107

15 T2028015 Cpox mocTaBku oT 19 mHew Bracket, Rear M/Cyl

16 T3051032 CpOK 1OCTaBKH OT 27 [HEeH SCREW,CAP/HD,M8X1.25X40,SLV
17 T3050410 CpOK IIOCTaBKY OT 27 HHEH SCRW,CAP/HD,M8X1.25X25,SLV,ENC
18 T2028019 Cpok nocTaBku oT 19 mHel Brake Pedal Assy

19 T3331400 Cpok nocTaBku oT 19 nHei Bolt, Shld, M8 x 1.25, Slv, Enc

20 T3205064 CpoK II0CTaBKH OT 27 gHel BOLT,HHF,LGHTD,M6X1.0X16,ENC
21 T3000301 CpoK IIOCTaBKY OT 27 mHEN PIN, CLEVIS 8 X 13.7

22 T3000302 CpoK IIOCTaBKY OT 27 fHEeN CLIP, 8MM CLEVIS PIN

23 T2028282 Cpok nocTaBku 0T 19 gHelt Moulding, Brake Switch Bracket

24 T2020906 Cpok nocTtaBku oT 19 nHei Dual Brake Switch

25 T2020897 Cpok mocTtaBku oT 19 mHen Spring, Brake Lever Return




